This cake weighs 1kg 200g

What is the weight of the cake in grams?

What is the weight of %2 the cake in grams?

—

Change these weights to grams;

1 kg 350g = g
2 kg 500g = g
2 kg 50g = g
1 kg 135g = g
2 kg 150g = g
1kg 749 = g

Easy Peasy work! Signed...................
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WeighT

1kg = 1000g
Change these weights to kg and g
1. 1500g = kg g
2. 1050g = kg g

? 3. 1005¢ = kg g

9 4. 2750g-= kg g

5. 2075¢g = kg g9
6. 2705g = kg g

This box of chocolates weighs 250g
1. How many boxes weigh 500g?
2. How many boxes weigh 750g?
3. How many boxes weigh 1kg?

4. How many boxes weigh 2kg?

5. What is the weight of 6 boxes?
kg 9




